AR B BEMES | R | PERR ot
1T MV Z4EE(A) W & —4 1 3E 1285
T MV 2 EE(A) w4 | 3BE 1285
FIT MV 2 EE(A) ARPE | & | SHE 1285
T MV 2 EE(A) w8 | SHE 1285
AT MV Z4EE(A) FO = A 2 1285
FAT MV 2485(A) 2N | 4 | 2 1285
AT MV EREE(A) FR= AR 4 3 1285
FAT MV B EE(A) il | | 4B 1285
AT MV 2885 (A) TR A | o 1285
AT MV #.85(A) = I E A 6 bt 1285
AT MV 2885 (A) EEN 71 A | 8E 1285
FAT MV B EE(A) M | =4 | 23 1285
FAT MV B EE(A) BEEE | = | SHE 1285
FIT MV EEE(A) BHNZE | =Z4E | 7 1285
AT MV EREE(A) SEE Fak:s 3t 1285
AT MV EREE(A) TR EE INAF 1 3t 1285
FAT MV 2085(A) BEEEF | N | 8 1285
FAT MV 2055(A) NG | 450 | BERDE 1285




* &t Al EE e A = B —F | 33t
x5 Al BRI A | ERER | 5 | 43t
* B Al ERREEEA| =88 | —F | St
* Al ERREKEA| Bk | —F | St
* B Al BRI | FRE | F | 20t
* B Al BRI A | ST | ZF | 49t
x4 Al ERREEEA | FIWE | F | 49
* S Al ERREHEAN| F & 68
*&E Al ERENEEA | REE | ZF | 6
*&E Al ERENESEA| Bl | ZF | 9
*EE Al EBENEEA| Y | ZFE | 9
* s Al ERENEEA| CElE | =F | TH
*AES, WiEgsEA| =flE | =F | 7T
*AES, MR A SRz | UE | odt
TIBK(A) —F | 13t 1925
TIBK(A) —F | 13t 1925
TIEK(A) —5 | 33t 1925
PIEK(A) —4F 4 Bt 1925
TIEK(A) —H | St 1925
TIEK(A) —4F S Bt 1925




TR (A) —f | T 1925
PIER(A) —HE | ST 1925
PIEK(A) A 8 bf 1925
PIBK(A) A 8 bf 1925
SIER(A) = 29 1925
SIER(A) = 29 1925
PIBK(A) =4 6 It 1925
FIBR(A) FAE | 3B 1925
TEK(A) HE | 3 1925
TEK(A) HE | 4BF 1925
TEK(A) FE | 8 1925
TEK(A) NE | 1BE 1925
PR (A) NE | 4BF 1925
PR (A) NE | STE 1925
PIBK(A) N 73 1925
PIBK(A) N 8 Bt 1925
PIBK(A) PUAE 1 3 1925
fanC ey FaE | DR 25
L LHHEIR —F | 2B 1925
L LHHEIR —F | 2B 1925




SRUEREBR —F | 3 1925
LELARETK —iE | 43 1925
LELARETK —iE | 43 1925
LELAIETIK —iE | ST 1925
LELARETK —iE | 63 1925
LELARETK —iE | T 1925
LELARETK —iE | T 1925
L TR THE | LR 1925
LELAIETK A 6 1925
LELAIETK A THE 1925
BELAETK HE | 43t 1925
LR TK HE | 43t 1925
BELAETK HE | 43t 1925
LELEIEIK ka2 5Bt 1925
LELEIEIK ka2 6 Bt 1925
LELEIEIK ka2 6 Bt 1925
G B TR HE | 73 1925
L B TR HE | 73 1925
L B TR NEE | LHE 1925
L B TR NE |13 1925
LELARETK N SR 1925




LELEIEIK 5Bt 1925
ST SHE | 1925
44 TR 8 B 1925
44 TR 2 31 1925
EEES A% | 1925
EEES 53 | 1925
gt TR 63 | 1925
HEE | sER | mm
AT MV 2458 —4F | 2B | 1285
AT MV 2458 —4F | 3B | 1285
HAT MV 215 —4E | 4B | 1285
HAT MV 215 —4E | 4BE | 1285
TT MV 215 —4F | SHE | 1285
TT MV 215 —4F | 6B | 1285
TT MV 215 —4F | 6B | 1285
TT MV 215 —4F | THE | 1285
TT MV 215 4 | 3FE | 1285
TT MV 215 4 | 3FE | 1285
AT MV #058 A 75t 1285
AT MV #058 A 8 Dt 1285




o7 MV 2155(B) | om | 1285
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1T MV 285 (B) TR =4 6 Pt 1285
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ITMV 2EB) | FRE | TF | SHE 1285
1T MV 2085 (B) ] B2 Gk 59t 1285
wis My sEe) | 2BE | me | sEE | 1285
1T MV 2085 (B) VO 6 Bt 1285
o7 MV 3155(B) 5 | IR | 1285
o7 MV 3155(B) 5 | IR | 1285
o7 MV 3155(B) 5 | IR | 1285
o7 MV 2155(B) S | IR | 1285
o7 MV 255(B) WEE | BEBE | 1285
FoiT MV 2455 (B) UG | GEFE | 1285
/T MV 245 (B) UG | GEFE | 1285
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ISR T EMRN | 6 1925
BIEZ BN A THE 1925
BIEF BN A THE 1925
BIER T EHN =] 23t 1925
BIER T EHN =] 43t 1925
BIER T EMHN =% | SHE 1925
AR T ERMN HAE | 3 1925
BIER T EMHN T | 6 1925
BIER T EMHN hAE | S8R 1925
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ISR EMAN gh5iE | KR 1925
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* IR DR 3T . M —4 1 3 1925
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*HRIRZE ST ZZ ] =4 THE 1925
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* EET g5 | SREEDE 1925
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TIEK(B) A | SR 1925
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TIEK(B) THE | 9 1925
5K (B) T | 9 1925
JIEK(B) = 1 B 1925
I (B) = 3B 1925
IR (B) = 4 ¥t 1925
JIEK(B) = 4 ¥t 1925
PIEK(B) hAF 2Bt 1925
PIEK(B) hAF 2Bt 1925
I3 (B) HE | 23 1925
5K (B) HE | 3B 1925
5K (B) FE | 43 1925
5K (B) HE | SHE 1925
JIEK(B) HE | 6B 1925
5K (B) HE | 6B 1925
5K (B) HE | 63 1925
3K (B) FAE | 8 1925
PIEK(B) INEE 1 8t 1925
3K (B) NE | 1HE 1925
3K (B) NE | 2K 1925
PIBK(B) INEE 53 1925
K (B) e | 2 FE 1925




tE & FER | HEER B
EIK(A) —F 4 Bt 1925
EIK(A) BRiE 5L 1925
EIK(A) A 1 9t 1925
EIK(A) A 35t 1925
EIK(A) A 73t 1925
EIK(A) —AF 79t 1925
EIK(A) —AF 79t 1925
EIK(A) 5 7t 1925
EIK(A) . 1 Bt 1925
EIK(A) = 3Bt 1925
EIK(A) = 3Bt 1925
EIK(A) =5 33t 1925
EIK(A) =5 4 Bt 1925
EIK(A) LA 1 9% 1925
EIK(A) LA 33t 1925
EIK(A) LA 33t 1925
EIK(A) LA 4 Bt 1925
EIK(A) LA 4 Bt 1925
EIK(A) LA 6 Pt 1925
EIK(A) k2 6 Bt 1925




EIK(A) 1 Bt 1925
EIK(A) 1 9t 1925
EIK(A) 4 3t 1925
EIK(A) 53t 1925
EIK(A) 7L 1925
AT HEAR B2
*Oo&E 1 EBK 2 Bt 1925
& 1 EBK 3L 1925
*Oo& T EBK 4 3t 1925
*Oo&E 1 EBK 6 It 1925
*Oo&E 1 EBK 6 Bt 1925
*Oo& T EBK 4 3t 1925
*OE N EIK 4 3t 1925
*oE N EIK 6 Bt 1925
*OE N EIK 73t 1925
*OE N EIK 2 Bt 1925
*OE N EIK 1 9t 1925
Y& 1 EBK 3L 1925
*OE I EIK 33t 1925
*OE I EBK 7t 1925
*OE I EBK 1 91 1925
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*FEEE A T —4f 1 B 1670
*REEE A Y el —4 3 JF 1670
*REEE A R — | 4T 1670
*FREEE A B MGE —4f 4 BF 1670
*FEEE A = B —4f 53t 1670
*REEE A ST —F | THE 1670
*EEAE A EFRF —4F 7 BE 1670
*BEEE A 3 i 2 Bt 1670
*BEEE A (E1 KSR i 7t 1670




*xBERE A | THE 1670
*EEES A AR 9 It 1670
*EEEE A = 7t 1670
*EEEE A hAF 1 Bf 1670
*EEEE A HAFE | S 1670
HEAE | BEEEs | A | DR =23
«zx | B | =& | am | 160
*EE B S T 1B 1670
*EE =2 B A | 43t 1670
*EE R A 6Bt 1670
*=2A Per R = 4 3t 1670
*=2A il LA = 53t 1670
* =% By ES = OSHE 1670
*2A ER [EK =4 6 Bt 1670
*2A = =4 7Ot 1670
* =% B E A | 1B 1670
*EE PIER A | 43E 1670
*EE N A hAE | SBE 1670
*2X TR I\ 4 Bt 1670
*2A B PuAE 1 3 1670
*EE 2T PUsE | 1 BE 1670




HEEE | SAEms | Hm | B | e
* DB AR
T 2Bt 1540
3 (A)
* P BRI
Fak:2 4 3t 1540
3 (A)
* TP BRI
Fak:2 6 It 1540
X (A)
*TP BRI
Fak:2 73 1540
X(A)
*TP BRI
Fak:2 8 It 1540
X (A)
* TP BRI
a2 1 5t 1540
X (A)
* DRI
a2 23t 1540
X (A)
* DR EARIE
I 23t 1540
3 (A)
* DR AR
INAE 53t 1540
S (A)
* DR AR
I 73t 1540

X(A)




*PEERIE
8 Pt 1540
X (A)
* P S FRE
1 3t 1540
X (A)
* P S FERE
3L 1540
X (A)
*PESERE
4 Pt 1540
S (A)
*PESERE
6 3t 1540
S(A)

FLEA T e | AR B2
AT MV 2088 —4F 1 9% 1670
AT MV 2488 —4 23t 1670
AT MV 2488 —4 4 Pt 1670
AT MV 2488 —4 7t 1670
AT MV 2488 A 23t 1670
AT MV 2488 A 4 Pt 1670
AT MV 258 & SHE 1670
AT MV 258 & 63 1670
AT MV 288 —F | 8 1670
AT MV 288 —F | 8 1670
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1670

3L

1670

B

33t

1670
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Sy
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B
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1670
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1670
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1670

19t

1670

2 Bt

1670
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FEETH FaE | DR 2
=IR(B) —iE | 6HF 1670
=IR(B) | 3 1670
=IR(B) | 3 1670
=IR(B) | SHE 1670
=IR(B) | 65 1670
SIK(B) A 9 1670
S IK(B) A | 9 1670
= IR(B) = 1 3 1670
= IR(B) = 2 BE 1670
= IR(B) = 3 3t 1670
= IR(B) = 43T 1670
= IR(B) T | 28 1670
= IR(B) L | 28 1670
= IR(B) T | SHE 1670
£ IR(B) T | SHE 1670
£ IR(B) T | SHE 1670
S IR(B) LA | 7HE 1670
S IR(B) TifE | 8HF 1670
=IK(B) hAF 8 Dt 1670
= IR(B) T | 8FF 1670




= IR(B) NE | 1R 1670
= IR(B) & NE | 23K 1670
=IR(B) £ NE | 8K 1670
=IR(B) El NE | 8 1670
=IR(B) S PO | 33 1670
=IR(B) & VU | 6 3E 1670
HEEE | 2o | SR | PR Bt
PIEK(C) = —4F 13 1670
PIEK(C) t —4 | 3 1670
PIEK(C) R —4 | 3 1670
PIEK(C) 1 — | 6 1670
PIEK(C) a5 — | T 1670
SPIER(C) 15 —f | T3 1670
SPIER(C) % | 1R 1670
SIER(C) F | 23R 1670
SIER(C) ik | TR 1670
SIER(C) ) | TR 1670
PIEK(C) ZZ —AF 8 It 1670
PIBK(C) = A 9 Bt 1670
PIBK(C) = A 9 Bt 1670
PIBK(C) £ A 9 Bt 1670




PIER(C) il = 1 5t 1670
PIEK(C) Pk = 3 BF 1670
SFIER(C) B8 = 431 1670
SFIER(C) il = 431 1670
SFIER(C) £ = 6 Bt 1670
PIEK(C) Pk = 7HE 1670
PIEK(C) % hAF 131 1670
PIEK(C) 5 HAF | SHE 1670
PIEK(C) PR HAE | TH 1670
PIEK(C) 7P HAE | TH 1670
PIEK(C) & HAF | 8 1670
PIEK(C) Pk RE | SHE 1670
SPIER(C) 2| PusE | 23 1670
PIEK(C) =2 U4 6 Bt 1670
PIEK(C) piel U4 6 Bt 1670
PIEK(C) = U4 6 Bt 1670
HEARE | SRS | A | DR Bt
EZIR(B) s B —E | 2BF 1670
EZIR(B) MEEE | —F | 2B 1670
EZIR(B) BEEE | —F | 38R 1670
EE3K(B) e | —F | 3R 1670




EEIR(B) —4 | 4B 1670
E3K(B) —f | T 1670
EZIR(B) A | 4 1670
EZIR(B) A | 4 1670
EZIR(B) | 6 1670
EZIR(B) | THE 1670
EIK(B) = | 3HE 1670
EIK(B) S| 4 1670
EEIR(B) A | 2 1670
EEIR(B) A | 4 1670
EEIR(B) A | SHE 1670
E23X(B) k2 79t 1670
EEIR(B) fE | THE 1670
E23X(B) fiks2 8 Pt 1670
E2IK(B) ik 8 3t 1670
E2IK(B) N 1 Bt 1670
E2IK(B) N 33t 1670
EEIR(B) NE | S HE 1670
EEIR(B) NE | S HE 1670
EEIR(B) NE | THE 1670
EZIR(B) NE | THE 1670




K (B) VaY: S 8 Tt 1670
23K (B) = INEE 8 BE 1670
EIK(B) | NANWHA | P4 59t 1670
EETK(B) ZEET | P 6 Bt 1670
HESTE | B4 | S | Pk 2
Z=
B —4F 2 BF 1670
B —4F 39T 1670
HHEdR —4E 59T 1670
B —fE | THE 1670
HHEdR —AF 6 IT 1670
B = 6 IT 1670
B = 8 E 1670
HHkiR FiE % =4 15 1670
=Rz3 =t =4 29t 1670
HHkiR ERMT =4 58t 1670
BB EIAER HAE | 4F 1670
BB FME FHEE 59T 1670
BB e FHEE 6 BT 1670
BB HE =S 39T 1670
BB BN PN =S 59T 1670
BB ] Ed =S 6 BT 1670
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R NSE | EEHE | 1670
R WhSAE | BB | 1670
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*EIER T ERIN e —4F 3t 1800
*EEtEms | wlle | —® | 75 1800
xiEstEms | plE | & | 2 1800
*piEstEms | 2lE | S | o 1800
xelEETEms | Gy | 4 | o 1800
xplEmrEms | sflbs | AE | 3 1800
*BIETAEAN | W | HRE | REHE| 180
*BIEFE L EAN | SEE | ARFE| 1800
*BIEBTEAY | Gl | ORE | GEFE | 1800
*BIEF LA | | HRE | GEEFE | 1800
*BIEFTEAN | e | HRE | EEIE | 180
*elEFLmms | W | H5RE | B 180
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*EPERIEA) | TR | | SEE | 1670




*EPELRIEI(A) A | THE 1670
*EPFERIE(A) | ZEE T - 8 It 1670
*ERERIEA) | BEF | = 2 Bt 1670
*EPERIEA) | BT | = 2 Bt 1670
*ERERIEA) | BEAE | = 2 Bt 1670
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* ST E IR & — | 3 | 1800
*ENEE TS [E] IR HE | —F | 33t 1800
*ERSATE B BR B | | 3FF | 1800
* R ELTE B 3R MEFT | —F | 4FF | 1800
* ER AT [E] Bk #TNR | —F 5Pt 1800
*ERLETH E R RE | —F | 63 1800




comEs | WY | & | 63 | 1800
* ERLETS[E] 3K HEMY | ZF | 9Bt 1800
*EREETS & 3k SEME | =4 | T 1800
* R ELTE B IR SEEE | A | 1BE | 1800
*ERLETH E R ZWE | AF | 13 1800
* ER AL TS [E] Bk WS hAF 5 1800
* N EATE B IR SuMtE | HE | 7HE | 1800
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*EREETH B BR GREEY | N | LR 1800
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* PR (D) % —& | S5HE 1800

*PER(D) | P —& | S5HE 1800

*PIIKD) | PR —E | T 1800

* PR (D) 2 AR 4 Bt 1800

*PIIK (D) + AR 4 Bt 1800

*PKD) | F T | 4R 1800

*PIIK (D) + AR 6 Bt 1800

*PERD) | # A THE 1800

*PEKD) | = | 9 1800

*PIIK(D) J& = 13 1800

* PIEK(D) 7B = 4 91 1800




*PI3K(D) LA | SHE 1800
*PI3K(D) hE | 63 1800
*PIIK (D) N 1 5t 1800
* PR (D) UtEeS 7t 1800
FLE4 T B | | IR 25
AT MV 288(D) 8 i —4F 1 9% 1800
T MV 25D) | EJE —4F 1 9% 1800
AT MV 248E(D) | RZ Al —&F | 2M 1800
AT MV 2888(D) | PR —F | 33t 1800
T MV 285(D) | MBEE —F | 4B 1800
T MV 285(D) | BEE —F | 4B 1800
WT MV 288(D) | AT —F | T 1800
AT MV 285(D) | HEIH B O 1800
WIT MV 8188(D) | BREIA | SHE 1800
T MV 28D) | =B5F & SHE 1800
AT MV 2485 (D) sl 7 A Tt 1800
AT MV 88E(D) | B4z & THE 1800
T MV 28(D) | =l & TH 1800
1T MV 2485(D) =Y o 9Pt 1800
1T MV 2483(D) M= = 1 91 1800
1T MV 2483(D) ST = 2 3t 1800




AT MV 2483(D) =4 4 Bt 1800
FTATMV BEED) | BWE | =4 | 48 1800
WIT MV EED) | M | =% | ot 1800
AT MV E0EE(D) | B =8| 7HE 1800
AT MV EEED) | 2 =8| 7HE 1800
RITMVEEED) | ZFEE | =F | Tt 1800
FAT MV BEED) | 5P PO | 1 3R 1800
TAT MV EEE(D) | T | MU | 1BE 1800
AT MV BEED) | =T tkea 1 DE 1800
AT MV BEED) | B PO | 43 1800
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IT MV #8ED) | ERPP U4 4 Pt 1800
T MV 88 D) | Ik e | ot 1800
TAT MV BEED) | &P PO | THE 1800
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* R P AR (B) A 1 9t 1670
* R P AR (B) A 39t 1670
* AR P EARIES(B) A 4BE 1670
* R P FEARIES(B) A 4 Bt 1670
* R 4R 1ES(B) A THE 1670
* R AR IES(B) T | 8 1670




* B P EARTE(B) & N A 9 1670
*ARPFERIEX(B) | S & 9B 1670
*EPFRIE(B) | FIPFHA =4 | 33t 1670
*ARPERIESI(B) | MEE | =F | 3 1670
*EPFARIE(B) | PR =4 | 33 1670
*EPFEARIE(B) | FREIA =4 | 33t 1670
*ARPERIEN(B) | FWES = 43 1670
*ARPERIE(B) | PPEE =4 53 1670
*EPERIE(B) | FRPHE =5 | ot 1670
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*5EERE(B) / —f | 2 1800
*5EERE(B) —fE | 2 1800
*BEEE(B) — | 3B 1800
*BEEE(B) — | 3B 1800
*TEEE(B) —F | 6B 1800
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() A TR 1800
() A | 8 1800




*52E#BE(B) a =4 1 9t 1800
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£R(C) iz [l —&F | 6t 1800
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£IK(C) HEE A THE 1800
£IK(Q) ek G A 9 Pt 1800
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SR(C) = T =& | 3B 1800
£IR(C) TR = 5 BT 1800
£IR(C) Rl = 5 BT 1800




£3K(C) B & = | 6 1800
£IK(C) ZIMET MU | 13 1800
£IK(C) N B PuE | 23 1800
£IK(C) S5 PuE | 23 1800
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L3 4(0) i e | 431 1800
HETE BAMY | FR | PR =S
* P S ERIES(B) & i hAE | 2 1670
* P S ERIES(B) A} hAFE | 3B 1670
* S FARIESL(B) A HE | 4T 1670
* P S ERIESL(B) B HE | 43 1670
* P S ERIES(B) &I hAE | SHE 1670
* PHFERIE(B) H hAE | SHE 1670
* PHFERIE(B) T hAE | 6 1670
* PHFERIE(B) i N 1 BE 1670
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SPIER (E) —f | 13 1670
SPIER(E) —fE | 23 1670
SPIER (E) —fE | 3 1670
JIEK(E) —4 | 3 1670
PIEK(E) —F | 43 1670
SPIER(E) —iE | 43 1670
JIEK(E) — | SHE 1670
JIEK(E) — | SHE 1670
JIEK(E) — | SHE 1670
PIEK(E) —4F 6 Bt 1670
PIEK(E) —4F 79t 1670
PIEK(E) A 3t 1670
SPIER(E) A | THE 1670
SPIER(E) A | THE 1670
SIER(E) A | THE 1670
PIZK(E) A 9 Bt 1670
IR (E) = 33t 1670
IR (E) = 7 3 1670




/),
+

N
(T

CoA

PIEK(E) hAF 13 1670
PIEK(E) hAE 13 1670
IR (E) T | 3HF 1670
SPIER (E) T | 3HF 1670
PIEK(E) hAF 5Pt 1670
IR (E) T | 7HE 1670
SPIER(E) W | AE | THE 1670
PIZK(E) AR fakea 8 It 1670
JIEK(E) M RE | 1 1670
JIEK(E) = = RE | 1 1670
JIEK(E) =3 RE | SHE 1670
SPIER (E) SR | VU | 63E 1670
HEETE FAR | BER B
IR (F) —E | 35t 1200
IR (F) —4E | 4HF 1200
IR (F) —4E | 4HF 1200
IR (F) | 2 1200
IR (F) = 29t 1200
PIEK(F) —F 7t 1200
PIEK(F) A 7 HE 1200
PIEK(F) A 7 HE 1200




.

SPIER(F) | 8 1200
SPIER(F) 2 | 8BE 1200
SPIEK(F) ANE | CF | 8t 1200
IR (F) x| = 35t 1200
IR (F) By | = 5Bt 1200
STIER(F) SWE | AE | 15 1200
SPIER(F) HWE | AFE | 45 1200
SPIEK(F) #ME | A | 6 1200
SPIER(F) Grgsy | HEE | TR 1200
SPIEK(F) GRMYF | A | TR 1200
SPIEK (F) W | RE | 6B 1200
SPIEK(F) EME | NFE | 8B 1200
PIEK(F) A PuAE 13 1200
TIBK(F) B4 ES PueE | 2 3F 1200
SPIBR(F) elss | POE | 23E 1200
PIEK (F) HWE PUEE | 33 1200
IR (F) MMT | PO | 3R 1200
PIZK(F) o U4 33t 1200
SPIER(F) ME | TOEE | 41 1200
SPIER(F) AllE | PUfE | SHE 1200
SPIER(F) mHME | TUE | 6 1200




SFIEK(F) ‘ 'AEI@z ‘ pus ‘ 79 | 1200

1T EATE B | FR | PR 2
w0 | —iF | 33 1755
S®D) | 8 —iF | 4 1755
S%D) | E —F | 5HE 1755
2IK(D) = s 39t 1755
amD) | M — | 3 1755
amD) | M i | 4 1755
awD) | B 4 | 4w 1755
S3%(D) — | 9 1755
S®D) | o = | 13 1755
swD) | bk = | 2% 1755
=IK(D) Bl =4 2 3t 1755
SKD) | B = | 35 1755
smD) | % = | 35 1755
%D | % HAE | 28 1755
SKD) | o T4 | 4 1755
amwD) | % HE | S 1755
SHD) | E HAE | 8HE 1755
amwD) | @ NE | 4T 1755
SD) | # NE | 8 1755




P
K=

RIK(D) PO 1 Bt 1755
RIK(D) = Ut St 1755
SIK(D) NA U3 5L 1755
SIK(D) B VYA 5L 1755
SIK(D) PR Y4 5L 1755
SIK(D) PR Y4 6 It 1755




